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Instructions :

76830

Download all NOTES and PAPERS at StudentSuvidha.com

There are seven questions in all
in this question paper.

All questions are compulsory.

In the Dbeginning of each
question, it has been clearly
mentioned that how many parts
of it are to be attempted.

Marks allotted to each question
are mentioned against it.

Start from the first question and
go up to the last question. Do not
waste your time on the question
you cannot solve.

OOF


http://studentsuvidha.com/
http://studentsuvidha.com/

viii)) Do not rub off the

3 822(AX)

vi) Write the solution on the pages of

both sides of answer-book. Write
the steps of solutions of all
questions except Question No. 1.

vii) 1f you need place for rough work;
do it on left page of your answer

book and cross ( x ) the page. Do
not write the solution on that
page. o
lines
constructed 4f' a question of
construction. Do write the steps
of construction in brief, if asked.

ix) Draw ne€at and correct figure in

solutign of a question wherever it
1S necessary, otherwise in its
absence the solution will be
treated incomplete and wrong.

1. 9l @ HIfew - |
TR 9US O 3T % o AR foeen 3 E)
frmi & %aeT T el &) Wel foaehed siea
39 AT IER-Yr&eht | fefiay -

ED,

76830

ferdl garHes QUIh g % Telg, Uceh

qeHes T JUTh o 9 &Rl

)y g-1 i) g+ 1
i) 2q iv) 2qg+ 1 1
O@®F | Turn over

822(AX) a
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fogat A2, -5)aR B(-2,0)3

THG x-38T W &g g

i) (-7,0) i) (-6,0)

iii) (—2,0) iv) (2,0) 1
A FEET Bgs H W e 9 4 %
s # 1 % Peml % dFwe

341 g M
p 2:83 i) 4:9
iil) 81 : 16 iv) 16 :81 1
i C_0329=%, ol sin? 0 T HH 2P
Y 3
D7 0o 5
1 1
i) ——= T =

) /5 iv) > 1

ot #, ferave 0AB =Y 9y B
B

60°
O A
— rh —
i) 6—; QY i) 26 qH
iii) %i 3t iv) 19 4|
®oF
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n Q&0 T WS x o) A udE UeuT

F o ¥ SeT G S ar 79 = g
i)y x+a i) x+a/2
x

iii) x —a iv) ~—a/2. 1

1. Do all the parts :

Four alternatives of the answer of each
part are given, out of which only one is
correct. Pick out the correct alternative
and write it in your angwer-book.:

a)

b)

76830

For any positive intéger g, every

positive everiyinteger will be in the

form

) g-—@ ) g+ 1

iii) 2qg iv) 2g+1 1
The point. on x-axis, which is
equidistant from- the points
A(2,-5)and B(—2,9), will be

i) (-7,0) i) (-6,0)

iii) (-2, 0} iv) (2,0) 1

" The corresponding sides of two

similar triangles are in the ratio
O : 4. The ratio of areas of these

triangles will be
ij 2:3 1) 4:9
iii) 81 : 16 iv) 16: 81 1

®OF [ Turn over

822(AX)

d)

6
If C0529=% » the value of sin?g w;p
‘be
. 0 P
iii) % iv) —;— 1

76830

In the figure, the perimeter of
sector OAB will be : _

B

i)

i) =— cm iv) 19 cm. 1 \

The mean of n observations is x.
If every observation is increased by

a , then the new mean will be
i)y x+a i) x +a/2

i) x-a iv) x —a/2. 1

®OF
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7 822(AX) 822(AX) 8
2. F‘ﬂ‘ WUE HINT : : 2. Do all the parts :

%) e d, DE||Ac3ﬂTDF1|AE%| . A

'@) afg 31n(A Bh--—é'-fﬂ' cos(A+B]=%

0°<(A+R) 590° A>B, T AR -
, B ¥id hifsg |
m wwa@%aﬁrqﬁmﬁqﬁﬁ

b)

Breamg 28 ¥ @ik 7 ¥ ¥ Ak w0 o

I S 45@=ﬁﬁa’raﬁraﬁ'mﬁmm

Wil . 1
™ P aRAREr ded FoSgen o
T T
S — 0-4 | 4-8 | 812
IRIRAT S A S

d)

12-16 | 16-20 | 20-24
“17 12 10

1

76830  @®F [ Turn over 76830

In the figure, DE || AC and
DF | | AE.

A

B F E C

BF _BE
Prove that —— FE - EC - 1

If sin(A—-'B):E and cos(A+B)==

0°<(A+B)<90°, A > B, find
A and B. ' 1

- The radii of circular ends of a

conical bucket are 28 cm and 7 cm.

If the height of the bucket is 45 cm,

find the capacity of the bucket. 1

Find the modal-class of the following
frequency distribution :

Class-interval 0-4 4-8 8-12

Frequency S 7 9

12-16 16-20 20-24
17 12 10

®OF
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3. Wt Wog Hifsu :

)

fag sifve foF V3 e aaftig d@& 2
2

@) T TS T FR 26 T AR uH &

@ dEn = a9 T ¥ Send e
‘#ﬁfﬁ'QI 2
98 U Wi wite e g
P(-3,p), =3 A(=5,~4) 3R
B(-2, 3) @ 0T gl 3Er@vg ol
fawfsa @@ &1 p &1 AR i =id
AT 2
Qmalqa?aﬁuﬁﬁaﬁﬁws@ﬁl%l
TEQ 0-4 A =TT I GEA PRI FIE
&I dR @l Sar €1 9R W o FJd

I | 2

3. Do all the parts:

a)

b)

76830

Prove that f§ is an irrational
number. 2

The difference of two numbers is
26 and one number is three times

the other number. Find the
- numbers. 2
®OF [ Turn over

822(AX) 10

<)

Find the r.a1.:io in which the Doing
P(-3,p) divides the line segmen;
joining the points A(-5 ~4) anq
B(—- 2, 3). Find the value ofp alsg.

2
The radius of a metallic solid sphere

is 3 cm. It is drawn into a long wire
of 0-4 cm diameter having uniform
cross-section. Find the length of the
wire. 2 :

4. [T TUE ST : -

=)

o)

76830

T ol T wieen B Raeg s

: Sl 1%60 Hid ¥ © mi

Wﬂﬁ?ﬁwglﬁmwﬁ?ﬁ]
e & ofem den 13

]ﬁx—2w-’c—3%a}k3ﬂ?m‘éﬁ
HH 31T hifg | 5
aig =5 A (2, 3), B (5, k) 3R
C ( 6, 7)14%@%?ﬁkwrmsna'

hifsTa | 2
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) fax ¥, o0AcCBO F® O 3R B
3.5 t At wH go B GG 81 dN
oD = 2 ¥N F, O wEiled 9FT H
QIFHST FIT HitoTT | |

2

4. Do all the parts :
a) Without .« performing the long
“division procedure show whether
66
180
terminating decimal or non-
terminating repeating decimal. Find

the rational number is

decimal expansion of 13- without

125
performing actual division. 2
b) If x=2 and x = 3 are the roots of

the quadratic equation
3x? — 2kx+2m =0, find the values
of k and m. 2

76830 OOF [ Turn over

822(AX) 12

C) If the pointsA(2,3),B(5,k)and
C ( 6, 7 ) are collinear, find the
value of k. 2

d) In the figure, OACBO represents g

' quadrant of. a circle of radius
3-S cm with centre O. If OD = 2 ¢
find the area of slzlﬁaded portion. ’

F‘ﬂmaﬂﬁt{' 2
F) TR Oty gR1 md e e adieon
FeE 3x-y=2 R 9x-3y=6
FAAA: D A &1 4

@ 7-8WHI AN @ W 3:4F U A
- Hrafaieg SR AT v siifaer ot

ﬁﬁq i ’ 4
m (i) .
cos 58° cos 38° cosec 52°
2( sin 32"]_‘5[ tan 15° tan 60° tan 75°] |
I I BT | | 2

76830 @OF
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(1i)
tanl®tan2°tan3°...tan45°...tan88° tan89°.
T H19 HId iy | 2

W FEfefea wroft e Oees S
25qﬁmﬁﬁ9ﬁmwgq%ﬁ$maﬁ

39t & |
S =1 (o | t00-150_[1150-200
AR dEm o 4 5

280-250, " 250-300 | 300-350

12 2 2
w%am%ﬁ:m%ﬁmwgqéﬁm
A T T W BT 4

S. Do all the parts :

a) Show, by graphical method, that
the system of linear equatlons

3x—-y=2 and 9x-3y =6
has infinitely many solutions. 4

b) Divide internally the line segment
of length 7-8 cm in the ratio 3 : 4.

Give justification of construction
also. 4

76830 L X )y [ Turn over

- 822(AX) 14

c) (1) Simplify

o cos 38° °
2[c?558 )_JZ:I[ os cosec 52¢ ) |

sin 32° tan 15° tan 60° tan 750

: 2
(i1) - Find the value of ‘
tanl®tan2°tan3°...tan45°...tan88° tangge.

2

d) The following table shows the daily

expenditure on food of 25 families in
a locality :

Daily expenditure 100-150 | 1 50_200-
(in Rs. )
Number of families 4 5

200-250 250-300 | 300-350

12 . 2 2

Find the mean of daily expenditures
on food by step deviation method. 4

6. " [t @ug HitU -
C®) wm SR forg  we

2 x? —8x+3=0 % O AT & I

jl

dwr ¥, @Al ) oh W@ w4 |
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fpd AR & YR T U & & @1 o
a 9 b T W Roa q fageii A amn
B d @7 W HAR & ¥R & Imq
FIT T §HC & HilCRS &1 fag wivwg
for WR At =g Jab ¥ »

% a = 18 W @ b = 32 T ¥, A HER
T SIS T ST . 4
T faer Ged sﬁtﬁanﬁqaﬁ?@

F AR HT 20 A 360 = ot uF

HETl WO €1 3@ g &t
oot SR 15-5 A 21 5w Raeht @
ot ySig SR Wi HivlEl . 4

") - F=faRaa areit @ areges 79 i -

Urcdieh

10-15 | 15-20 | 20-25 | 25-30

e ey d=r| 5 6 | 10 | 15

30-35 | 35-40

2

6. Do all the parts :

a)

76830
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Determine whether the quadratic

eqliation :3}— x?2 -8x+3=0" ..h'as real
roots. If so, find the roots also. 4

®OF [ Turn over

822(AX)

b)

d)

16

The angles of elevation of the top of
a tower from two points A and B at
distances a and b from the base of
the tower and in the same straight
line with it, are complemen

Prove that the height of the tower

is Jab .

Ifa=18 m and b = 32 m, find the
height of the tower. 4
A toy is in the shape of a cone of
radius 35 cm mounted on a
hemisphere of same radius. The
total height of the toy is 155 cm.
Find the total surface area of this
toy. 4
Find the median from the following
table :

Marks
obtained

10-15 | 15-20 | 20-25 | 25-30

Number of
stu_clents

) 6 10 15

30-35 35-40

4

%) o e @en ¥ e

76830

o 300 9
T w9 4 faaf@a &2 9§ 3k
10 B AR 37T I, o TqE S 6
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Hew a7 Qal & 9= H 1 hi HE &
S ¥ 1 SE i W& 1 ST 6
3yerar

ot L1 11
x+4 x-7 30’

x# — 4,7 I A DI | 6

@ i) T H -3k aAB1BC| ¥R
DE 1 AC, @ fd4g =ive %

AABC ~ AAED. |

..
- 3
i) feEoT, ABC uw Brgw ¥ foed

ZA=90° T AD 1 BC ¥ Tog
sitve f¢ AD?=BD.CD.
) A

D .- 3
AU

76830 ®OF [ Turn over
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i)y Uh gaar B A, fog SR Ry
T ST % S W A T, TaE
fFdl T SR & T F IR T F
. SR Bl 3

hii) o ®, APQR &I ST PR w1

QR W fag s @ T 1 =®

ZP=/«RTS, « Tag =ifGw &
ARPQ ~ ARTS.
P

Q

7. Do all the parts :

a)

76830

300 apples are distributed equally
among a certain number of
students. Had there been 10 more
students, each would have received
one apple less. Find the number of
students. 6

OR

YY)
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19 822(AX)
Solve the following equation :

1111
x+4 x-7 30°

x* —-4,7. 6

b) i In the figure, if AB I BC
and DE i1 AC, prove that
AABC ~ AAED .

A

30

3
i1) In the figure, ABC is a
triangle. "'in which <ZA=90°
and AD 1 BC. Prove that
AD?=BD.CD.
A

0
s [

OR

76830 ®OF [ Turn over

20

1) In an equilateral triangle, prove
that three times of square of
any side is equal to four times
of the square of its any altitude.

3

i1)) In the figure, S and T are points
on the sides PR and QR of
APQR. If ZP=ZRTS, prove that

ARPQ ~ ARTS.
P

822(AX) - 3,20,000
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